Name: Multiplying two digits by a multiple of 10
Multiply a two digit number by a multiple of ten

1) 45x10= 11) 81 x 60 =
2) 70x90= 12) 94 x 10 =
3) 56x70= 13) 38 x 40 =
4) 63x10= 14) 98 x 10 =
5) 97x 80 = 15) 81 x 40 =
6) 61 x 60 = 16) 31 x 10 =
7) 98 x 20 = 17) 48 x 30 =
8) 13x30= 18) 39 x 80 =
9) 53x10= 19) 94 x 40 =
10) 54 x 10 = 20) 16 x 10 =

Answers, fold under: Mark your work when you have finished.

1) 450 6) 3660 11) 4860 16) 310
2) 6300 7) 1960 12) 940 17) 1440
3) 3920 8) 390 13) 1520 18) 3120
4) 630 9) 530 14) 980 19) 3760
5) 7760 10) 540 15) 3240 20) 160
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